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Ha: JMHNTRSA(GNH)
CHol: FOIMNMO TP cHel &

_ _ _ Muo
Mo E - SRI(3]) - HRAY - BES Aboy i 2
01 2UH0IH| 6,600 6,600 0
0 22l0fH| 500,0008 * 122 6,000
0 SHGY ol 50,0008 * 12 600
02 2% 01t 32,400 32,400 0
0 01Y| 180,0008 * 158 * 12 32,400
405 XtotE S| 6,500 0 6,500
01 AU SEHSH| 6,500 0 6,500
0 =ADI P 6,500
SN AR 101,000 101,000 0
=AY 101,000 101,000 0
72 FolAY 101,000 101,000 0
401 NEHIL 2] 101,000 101,000 0
01 Al&l 100,000 100,000 0
0 AIJls 2 T X B AH(L=120m) 10,000
0 AFSIHH 422 AH(L=50n) 10,000
0 JbEHs 244 Z AH(L=100m) 10,000
0 BIoHHH 42 FHIZ AH4MH2) 10,000
0 AFAIRIQIZ TH & B & B AH(L=150m) 10,000
0 B2 =244 3 AHL=100m) 10,000
0 2252442 AHL=100m) 10,000
0 &l Z i 42 B Hl B AH(L=50m) 10,000
0 947 DHS OH2 I & AH(L=150m) 10,000
0 Ol Al-Ch &2+ E 2 T E B AF(L=150m) 10,000
03 Al&=rHt| 1,000 1,000 0
0 AR2 FUXAAY LS 1,000
ERst=E L] 50,562 47,802 2,760
2SI (3HHE) 28,087 25,327 2,760
22| (3HHe) 28,087 25,327 2,760
101 21244l 17,887 15,127 2,760
03 RIHAZER S 17,887 15,127 2,760
0 BARI(19) 17,887
o J=23 33,0008 * 300 9,900
o &012 9,900,009 * 4/12 3,300
o FEALY(FIH4Y) 33,0008 * 52 1,716
o XRIFNY 33,0008 * 15 495
o ANZQI2R4Y 61902 * 20AI2 * 122 1,486
o ZHIB(5H014)
9,900,0008 * 10/100 990
203 YR FAY| 10,200 10,200 0
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